100 & 2784 B4 F 545100 EMARL B2 54282080 55 1 33160 -7

5

A

HolRE

P ¥
#oonF
2

,

.‘

Tk
~0

P

2 b — R A
Ll e AE

Dy
9

]

T ,
SRR 2P A
WA OBL R ESTEE
O3 AT - (0§ B EITA 5% RETA B A% 1 T RIHE FFE 0 29 A o

\

*\ﬁﬁh%4%ﬂifﬁ@%%<”THﬁ%@ ) B AR 100 EA2F % D

AH L G AR ;,‘T‘Eﬁ;..‘]?\ L 24 3 Ax\F' 1029 78 4~ ¥f 5 }?‘53‘3:‘9 » Bed 4 E B~ > IR

103 # /& F 42:F 60%5% Afry gt oo 51 #F v 4yrd e {E.ﬁkf]‘m\z‘ ;ﬂ;%‘f CIE Y B PN

TRP D6 R 182 A AGFH S o PR e 5% (750 DRG I P gk O P

‘2 EE ré*-‘}?a t ﬂiﬁ“ﬂ' FERRY > THGE H L H (add-on) £33 FHF R A

AR RN GG B F\: D (F1 42104~ > £ 50 &)

O)F *F AP ¢ il f’ﬁ f%%;g&—g\ AL F TR gk 5 P 7

OF % DRG *iF p RERAP i k™ > ¥ 3 PHEFHA D e L [ arey
%%’H”§$M%§%#Liﬂ~%%§%ﬁ%iﬂ~%&éﬁ%%ﬁ?iﬂ
AV g 8 L @

GO * &7 DRCELF pF FRBP GHET ﬁ»Jv* EERE AP ETRR?

MF#FFHEP D REFELHFTS DRG L H41R T &8 F FRHFHF Wi L # DR
B TRFIE A H AT

@ #d 3 F] (incentive ) £33 4 (regulation) = i pLgh » & I v =

E]

DRG 3 4 F 478 B e £ b p %

w%

o

r\n

N

- ~ 46 'k (moral hazard) = s B0 HiT= L& k& R B RG5O g o FR
(50 &)
O3 EHR G 2
O F b GRAT AR E N B 2
EEAP SR AELA 7R I R A ] 9



